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U] Bl PIfEs - PR B R CEK2TAE - S i)

T XCHT AT 44 £ £ H S Hb L A HEL P 3E H T 3 Hu ENEE S AR Hi
FEIX 0.2 0.9 0.0 0.5 -1.8
143, 600 412, 700 91, 000 245, 700 10, 800
23 21 15 15 1 1 39 37 1 1
R X -0.4 0.3 -1.9 -0.4
113, 600 191, 600 86, 600 133, 700
16 16 8 8 3 3 27 27
KX -1.8 -1.2 -1.7 -1.7
86, 100 128, 200 64, 100 93, 400
22 21 8 8 4 4 34 33
ol 2 -0.7 0.2 -1.6 -0.5 -1.8
115, 000 282, 200 75, 900 163, 700 10, 800
61 58 31 31 8 8 100 97 1 1
X 0.6 0.8 0.7
91, 100 186, 600 131, 700
23 23 17 17 40 40
X -0.1 0.0 0.0 -0.1
70, 900 98, 000 53, 900 75, 800
9 9 3 3 1 1 13 13
THIX -1.9 -6.3 0.6 -2.0 -1.1
54, 400 68, 100 32, 900 54, 800 940, 000
11 11 2 1 1 1 14 13 1 1
X -2.6 -0.6 -1.0 -2.4
53, 400 81, 000 41, 300 54, 600
11 11 1 1 1 1 13 13
E[aEs -1.2 -0.3 -0.9 -2.2
35, 300 52, 600 41, 600 603, 500
7 7 4 4 11 11 2 2
EALR -0.3 0.2 -0.2
61, 000 85, 300 64, 500
6 6 1 1 7 7
KX -1.6 -2.2 -1.8 -1.0
11, 600 26, 600 15, 700 28, 300
8 8 3 3 11 11 1 1
AN T 3 -0.8 0.0 -0.1 -0.6 -1.6
61, 700 130, 900 42,700 80, 800 543, 800
75 75 31 30 3 3 109 108 4 4
BT -2.8 -3.6 =0.9 =2.9 0.0
86, 300 176, 100 52, 800 106, 500 550, 000
25 25 8 8 1 1 34 34 1 1
N -1.2 =0.2 =0.9 0.0
55, 100 116, 900 71, 900 163, 000
8 8 3 3 11 11 1 1
=B 0.6 0.4 0.6 0.0
105, 500 202, 800 133, 300 1, 200, 000
10 10 4 4 14 14 1 1
BLE -1.5 -1.3 =0.9 -1.4 -1.4
39, 600 73, 700 29, 000 44, 200 486, 500
26 25 5 5 2 2 33 32 2 2
P —0.4 =1.0 =0.8 =0.7
35, 100 93, 600 71, 700 146, 000
3 3 5 5 8 8 1 1
Emm -1.3 —2.5 =0.9 -1.6 2.1
53,100 63, 700 32, 000 54, 400 470, 000
11 11 4 4 1 1 16 16 1 1
R -1.0 1.1 0.4 -1.0 0.3
65, 300 87, 000 39, 600 68, 900 373, 000
34 34 10 10 2 2 46 46 1 1
BT -1.0 2.2 0.0 -1.2 —2.2
47,700 64, 500 21, 000 50, 700 900, 000
18 18 6 5 1 1 25 24 1 1
Bl -2.8 -5.9 =3.2
54, 900 64, 800 56, 000
15 15 2 2 17 17
ENIGH -1.3 2.1 -1.8 -1.6 —2.0
43,700 69, 400 28, 000 51, 000 902, 000
12 11 6 6 1 1 19 18 1 1
JEERL T -0.4 0.6 0.0 0.4 ~1.0
60, 800 76, 700 45, 500 63, 700 203, 000
16 16 5 5 1 1 22 22 1 1
T 0.1 -1.0 0.0 0.2 0.8
67, 700 97, 000 26, 400 66, 700 264, 000
10 10 1 1 1 1 12 12 1 1
Rl 1.1 =0. 4 0.0 =0.9
39, 800 50, 400 35, 200 42,100
8 8 3 3 1 1 12 12
T =0.7 -1.0 0.8
55, 400 92, 600 67, 800
2 2 1 1 3 3
T 0.3 0.0 -1.2 0.3 0.8
75, 700 120, 000 41, 500 76, 700 124, 000
8 7 1 1 1 1 10 9 1 1
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T X HT A 44 £ F H 5 Hi LA HE EHE T 2 H 2 H & PR Hi
e =2.2 =2.0 0.0 -1.9 ~3.6
48, 500 82, 200 24, 300 49, 700 1, 080, 000
6 6 1 1 1 1 8 8 1 1
T o =3.1 -1.5 -2.6 0.0
38, 700 61, 600 47, 000 41, 000
7 7 4 3 11 10 1 1
T -2.6 1.1 =2.3 -2.6
16, 200 27, 000 18, 300 380, 000
4 4 1 1 5 5 1 1
B -1.5 -1.5 -1.5
26, 300 64, 200 35, 800
3 3 1 1 4 4
FEOET =0.5 =0.5 0.5
67, 900 96, 300 76, 500
7 7 3 3 10 10
W2 B 2.7 -3.5 =3.4 =3.1 -1.8
34, 600 41, 100 20, 000 34, 300 1, 090, 000
3 3 2 2 1 1 6 6 1 1
i E -1.3 -1.6 0.8 -1.4 -1.2
58, 300 93, 400 33,100 65, 400 521, 100
236 233 76 74 14 14 326 321 17 17
B o har 1.1 0.8 =0.9 1.0 -1.3
68, 300 144, 200 48, 000 86, 900 502, 100
372 366 138 135 25 25 535 526 22 22
G 2.1 -1.9 =2.0 0.0
37, 000 66, 200 46, 700 105, 000
2 2 1 1 3 3 1 1
TTTERT -1.3 -1.6 -1.4 0.0
25, 400 43, 400 31, 400 30, 000
2 2 1 1 3 3 1 1
P EHT -3.0 -3.0
16, 900 16, 900
2 2 2 2
TAIGHT =3.9 =3.4 3.7
26, 600 56, 500 36, 500
2 2 1 1 3 3
TGt AT 3.7 =3.0 =3.5
30, 000 51, 600 34, 300
4 4 1 1 5 5
] e T 0.3 0.0 0.2 0.0
94, 900 111, 000 97, 600 490, 000
5 5 1 1 6 6 1 1
1 7KHT -0. 2 =0.7 =0.3
112, 900 136, 000 118, 700
3 3 1 1 4 4
R IR T L1 I.1
106, 100 134, 000 111, 700
4 4 1 5 4
NI 1.7 -1.0 -1.6
35, 700 51, 000 37, 600
7 6 1 1 8 7
ERTIT =0.7 =7.9 =3.1
40, 400 34, 800 38, 500
2 2 1 1 3 3
TIRAAT -2.5 0.4 —2.0
11, 900 27, 500 15, 000
4 4 1 1 5 5
PR -1.3 1.9 -1.5
29, 700 40, 400 33, 300
2 2 1 1 3 3
TEEED 1.4 =2.2 -1.6 0.0
51, 500 68, 400 55, 200 208, 300
39 38 11 10 50 48 3 3
= =] -1.2 =0.9 =0.9 1.1 -1.2
66, 700 138, 600 48, 000 84, 200 466, 800
411 404 149 145 25 25 585 574 25 25
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